Adda

eY

UP.LT
Grade

Previous Year Paper
Computer 2018

GET IT ON
Google Play



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ALL EXAMS,
‘ ONE SUBSCRIPTION |
@
70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
Previous Year 500%

ATTEMPT FREE MOCK NOW


https://www.adda247.com/product-testseries/79075/test-prime?productId=79076
https://www.adda247.com/product-testseries/79075/test-prime?productId=79076

GET IT ON
Google Play

T THUATH
C #re : DFMET-06 1720107
2018
o . et
YW-1 : WWNTE Aggd ;W9 e 1 A 30
W11 @ PR . WyA WEm 31 # 150
Ty ;2 U2 quits : 150
HUAT ATHATH TR Aad W FA
@ _—
N B e

WA % TR % Y Fad w ate-wEe 31 W SEE S
Fegeft I 2 A TEe At ArgEw W wrEuT

HATTFT HOR Tl T hae ITR-TTE WA 33§ | TOET F IUA IT-TAch chl 41 XA 1TUGQD 1 114 2

WEEqUl AW

1. mfi g ¥ 3 3 af vEl F % A R

= HeaTRA T fEm wmem R sEeh Rrdrerd @@ snaefi g

T - T el S W e, fa, whern gfte @ ah wie T W sifha S - uEs

T8 Tt giereT i 150 WA ¥ 1 SR W F 9T (4) 3RE 3T A F A9 Ry R | @ 9w 3 @ Few @

T 2| forg I A1 3 AR T TR 3f T ¥, I 3 36 A IR I F FQ At -arse 9§ T e R
2|

ST ¥ ST whem gferE % F i WS A T | e i wdie gfeen & oiet it 38 3 ford | afe s

T FT FE 9ed §, 91 o Pres | afdn e @i o 3 @ w aifed gEE w )

e T TR 3 g T i e 3 3 s The g & e i weh-wif ol o R wdem

gfer # F W= 6, @ Pries B R @ @i 1w f @ giea awm s

6. T IW & foTe 2Ug ¢
THR-UIE A IEfEan g e m e 3w &% fore gve Ran o)

(i) 7o T ¥ T AR A | Teiiean g wes v & fae f e o ee s fo s e e

fou A w1 vew-Tarrd v F wW A @ A@m)

(ii)wﬁﬁﬁmqmﬁﬁWWém%,msﬂwmmm,aﬂﬁﬁqmmﬁé'@muﬂ
A 2, fo ofl 38 wa & foe sedogen @ 3 e w1 e fan smem)

(i) afz Tefizam g F1E T ' € R S & st IefieEn g I A fen s R, @ 3@ W F fore @

g A€ fem som)

W4 A ATTR! UE ThEU gieE Wiem @ 7 HE WE q@ % A @ |

Note : English version of the instructions is printed on the back cover of this Booklet.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

eY

7

/25-C

31.

32.

33.

34.

35.

PART-II :

Which one of the following is prefix
representation of the infix expression
A%(B+C)/D?

(a) /*A+BCD
(b) A+B/CD
() +*AB/CD
(d) None of the above

A B-tree is of order p and consists of
n keys. Its maximum height is

(a) log(l)/m(n*l)/Q
(b) log pn

(©) log(p/Q)(n+ 1)
(d) None of the above

The following postfix expression with
single-digit operands is evaluated using
a stack :

8231 /23%+51%*~
(Note that A is the exponentiation
operator.) The top two elements of the
stack after the first * is evaluated, are

(a) 6,1 (b) 5,7
(c)y 352 d) §.B
A hash function defined as

f(key) = key mod 7 with linear probing
is used to insert the keys 37, 38, 72, 48,
98, 11, 56 into a table indexed from
0 to 6. What will be the location of
key 11?
(@ 3

() S

(b) 4
(d) 6
The concatenation of two lists is to be
performed in O(]) time. Which of the

following implementations of lists could
be used?

(a) Singly linked list
(b) Doubly linked list
(c) Circular doubly linked list

(d) Array implementation of list

10

Pmﬁr o p——

COMPUTER / 9MI-II : P

a1, gfwR FAwh A«(B+0)

32.

33.

34.

35.

GET IT ON
Google Play

/p 1 ffFa8 =
f # B FH-T 27
/% A+BCD
A+B/CD
+* AB/CD

(b)
(c)

\M“ﬂ?{?ﬁﬁ@ﬁ?ﬁ

T B-tree, fH F4 p & T ft n pioml
3 # arfrpam 398 2

(@) logp/z)n+ 1)/2

(b) logpn

(C) ]Og(p/2)(n+ 1)

d) T A w A

fama-fefz sfaga ¥ Wy = RIE=ART
=i F 2F F WA @ A AR
823/ /23%+51%-

(A 3 A TF TFORETE AWK R1) 96
« % GoATHA F a2 VF 4 ¥ wferza '

(a) (b) 5,7

(c)

6, 1

#ia d 1,5

T@Vgﬂfmﬁ'ﬁf(le<ey)=keymod7%’(@lﬁ,
<l ifem & @, wfonfyd 21 sEd w@m
i@t 37, 38, 72, 48, 98, 11, 56 H1 0 &
6 7% F dfcrd § e F % forg fran
21FN 11 =1 WE F0 @MY

(@) 3 (b) 4

() S d) 6

A fae = FEFRAW o) T
Zﬂéﬁﬁé%ﬂ%&-ﬁ%mﬁﬁ?
?

(a) Toreh foree foee
(b) s=eh fome foe
() FER aeh fore fire
() foree #1 Rt

“Scanned with Camscanner
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36. Match List-1 with List-Tl and select the | 36. -1 # g1l & gafaa Do 720 T %

correct answer using the codes given 42 feu 1o F2 F T G I ﬂﬁ?:
below the Lists :
List-1 List=II -1 -1
A All-pairs shortest 1. Greedy A. s7d-Yd wiide Ty 1 frd
gﬂthk : B. farais 2. TY-FE T
B. Quicksartag. 2. Depth-first
) b C. fufw e Afm A 3. SR st
C. Minimum weight 3. Dynamic D. Fage w2 4. feamee @ FFHN
spanning tree programming
D. Connected 4. Divide and %2
components conquer 5 2 @ A ‘B C D
Codes ?( % V \ 2 4 1 3
: . X
CRE A 1 T T >
2. & L1 aal S
U i @ A B C D
3 4 1 2 3 4 2 1
il . i d A B C D
v’ & Al (d) IR
(d) A B 2 D
I 37, fr § @ D-a YeieE HAie-T AR T
Ylscq qHdl 2’
37. Which of the following algorithms solves H1 T H #
the all-pairs shortest path problem? _la} feseeg) Yo
‘a) Diijtra’s algorlthm @ (b) mm
\ el ? 4 h
(b) Flc‘)_»ds algox"lt m © fim treriifeeH
(c) Prim’s algorithm 4
(d) Warshall’s algorithm (d :
38. Which of the following sorting 38. ﬁ?‘ % § frm wifén Temien # T TH
algorithms has the worst time HEARA nlog(n) B 77
complexity of nlog(n)? @) Aoais
tz}) geap:ort (b) Srais
) uicksort .
{c) Insertion sort R (c) 3 W
(d) Selection sort c (d) Ryt 1

39. What is common in three different types 39, = # A -\ @t A Taga (‘sq—aﬁé‘(,
of traversals (inorder, preorder and - 37 3R TR -3TR) 7 3™ A1 &7

postorder)? 4
(a) Rootis visited before right subtree L q,ﬁ‘ngz !ﬁ a% qﬁﬁﬁzm ? -
(b) &d Fa-H BN WW MW wW@-P ¥ wS

A Y

bl Left subtree is always visit efore :
i right subtree ; fafere ta ?
(c) Root is visited after left subtree (c) T w4-4 ¥ are fafse #a @
(d) All of the above (d) IR &
e

i 11 [ P.T.O.
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40.

41.

42.

Which of the following is correct
recurrence relation for worst case of
binary search?

(@) T(n)=2T(n/2)+0O(1)
T(1)=T(0)=0()
T(n)=T(n/2)+O(n)
T(1)=T(0)=0()
T(n)=T(n/2)+0()
T()=T(0)=0()
T(n)=T(n/2)+O(logn) 7\
T(1) = T(0) = O(}) :

Which of the following traversal
techniques lists the nodes of a binary
search tree in ascending order?

(@)
(b)
(©)
(d)

(b)

(c)

(d)

Postorder
Preorder

Inorder

None of the above

A hash table of length 10 uses open
addressing with hash function
h(k)=kmod10 and linear probing. After
inserting 6 values into an empty hash
table, the table is shown below :

(o}

42
23
34
52
46
33

O o ([ [ [H W [N =

Which of the following choices gives a
possible order in which the key values
could have been inserted in the table?
(a) 46, 42, 34, 52, 23, 33
(b) 34, 42, 23, 52, 33, 46
(c) 46, 34, 42, 23, 52, 33
(d) 42, 46, 33, 23, 34, 52

43. C was primarily developed as a

P

(b)

()
(d)

system programming langua
general purpose language @
data processing language

None of the above

/25-C
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43.

GET IT ON
Google Play

mgqﬂﬁ%aﬁ%a%%ﬂﬁqﬁﬁ‘ﬁ?—m
e frpta fee 27

(a) T(n)= 2T(n/2)+0()

T(1)=T(0)=0()

T(n)=T(n /2)+0(n)

T()=T(0)=0())

T(n)=T(n/2)+0(])

T(1)=T(0)=0(1)

T(n)=T(n/2)+O(logn)

T(1)=T(0)=O(1)

fort Yada aAEl & A A, TR a4
F Al F AR wE A gelag FAT 27

(a) WRZ-HTE

(b)'m-aﬁﬁ

(c) T-HR

(d) I9g | 8 FI3 A

s 10 f O oAl wWowe
h(k)=kmod10 3N 43 mifem + T 39"

Wfhm 1 I9E F=A R TH @iedl 79 AT
% 6 HH SIeR ¥ =18 AR FEEER #

(b)

(c)

(d)

o

42
23
34
32
46
33

I

O (|||t |h |[WIN (=

Fet % 3 #a-m frwen w5 et w3

W@Wﬁm@m@émmﬁ?
(@) 46, 42, 34, 52, 23 33

(b) 34, 42, 23, 52, 33 4¢
() 46, 34, 42, 23 55 33
@ 42, 46, 33, 23, 34, 59

C gem: fasfim ) g
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44. The minimum number of temporary

variables needed to swap the contents of
two variables is

(a) 1
(c) 3

2
0

(b)
(d)

45. The program fragment
int a=5, b=2;
printf ("%d",a+++++b);

(@) prints 7
(b)
(c)
(d)

prints 8
prints 9

None of the above

46. Consider the following program segment

in C programming language :
i=6720; j=4;
while ((i%j)==0)
i=i/j j=i+1L}

On termination, j will have the value

(a) 4 (b) 8
fc) < (d) 6720
47. Consider the following segment of
C code
intj, n,
=

while (j<=n) j=j*2;
The number of comparisons made in the
execution of the loop for any n>0is

(a) [ogynl+1
(b)
(c) [oganl

(d) Llogpnl+1

n

48. What will be the output of the following?
main ()
d
int a='A’;
printf ('%d", a);

(a)
(b)
(c)
(d)

|
A
a

65
Compilation error

/25-C
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A Aadd ¥ F2 A B w0 % T
el Afcrae 1 wen freh A7

(@) 1 () 2 6@
int a=5, b=2;

printf ("%d",a + + + + +b);

= wrfi 2 7

(b) T &t 2 8

c) F==ftzo

(d) ITE T A F5 T

C m a & e gmm-mr o fEw
t

i=Q720; j=4

while ((i%}j)==0).

{i=i/j =i+ L}
wmifE o j A E
(@) 4
(c) 9

C F ¥ g @ve W fa=m
intj, n,
T=1
while (j<=n) j=j*2;
ﬁw’?ﬁ‘ﬁn>0%%‘&?ﬁ%‘sﬁﬂqﬁqﬁﬁﬂ§
gerait ) dem @
(a) |-log2xﬂ+1
(b) n
(c) Moganl
(d) LloanJ+l

(a)

8
6720

(b)
(d)

48. = =1 frid@ (output) gm?
main ()
{
int a='A';
printf ("%d", a);
ay A
(b) a
(c) 65 .-
(d) HirageeE 3R

| P.T.O.



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

>

Adda

e

@ (d)

49. What will be the output of the following
program?
int f(int x)
{
static int y;
y+=x;
return (y);
}
main ()
{
int a, 1;
for (i=0;
a=f(i);

printf ("%d’", a);
v }
(1 @ 6

() 10

i<6; i++)

(b) 8
@ 15

50. Which of the following is not a storage
class specifier in C programming

language?
®

(a) Register
‘9/ Volatile
(c) Extern
(d) Typedef
51. In C language
(@)

parameters are always passed by
values

(b)

\(}

parameters are always passed by
reference

non-pointer variables are passed by
value and pointers are passed by
reference

parameters are always passed by
value result

52. What does the following C statement
mean?

scanf ("%4s", str);

Read exactly 4 characters from
console

Read maximum 4 characters. from
console

Read a string in multiples of 4
None of the above

(a)
(b)

(c)
(d)

/25-C
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49, fi= s 1 Frld (output) F am?

int f(int X)

{
static int y;

y+=X;
return (y);

}

main ()

{ .
int a, 1,
for (i=0;
a=f(i);
printf ("%d", a);

}

6

i<6; i++)

() 8
d 15

(a)

(c)
50. C Suifip s & frs § @ ¥R- @ ©RA

Frg e Tt R7

(a) TRX

(b) AR

(c) WA

(d) 2=H

51. C HNI #

(a) Wl w WW W W@ R
value g1

(b) ¥rfied N m Y I R reference
QY

10

() non-pointer variables # value ZR

iR pointers F! reference T S
ST ®

(@ Rl B T W W R vahe
result g
52. Fififen ¢ % =1 v anf 29
scanf ("%4s", str);
(a) W%m«;%}mm
(c) 4%Wﬂ@%ﬂm .
@) IT F A 9 7
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53.

54.

55.

56.

Assume the following C variable
declaration :

int *A[10], B[10][10];
Among the following expressions, which
will not give compile time errors if
used as left-hand side of assignment
statements in a C program?

L A2
. A[2)[3)
n. B[

V. B[2)(3]

(@) 1, Il and IV only
(b) 11, 1l and IV only
(¢) 1I and IV only

(d) 1V only
What is the output of the following
C program?
# include
int main ()
\
int index ;

for (index=1; index <=5; index +%)

printf ("%d", index);

if (index==3)
continue;
1
(a) 1245 (b) 12345
(c) 12245 (d) 12354

What is the meaning of the following

declaration in C programming language?

int(xp)[S);

(a) It will result in compile error
because there should not be any
parenthesis, i.e., "int *p[5]" is valid

(b) p is a pointer to 5 integers

(c) p is a pointer to integer array

(d) p is a pointer to an array of
5 integers

In the relation R={2),(%3)}, the
minimum number of ordered pairs that
must be added to this set, so that the
enlarged relation is reflexive, symmetric
and transitive, is

(a) 4 (b) S

(c) 6 (d 7

/25-C

GET IT ON
- Google Play

53. fefafaa € variable declaration
HH é $
int *A[10], B[10](10};

frm whyaafral 3§ ®H-91/] FEARA IR
Ifz Tt 2m/A, AR @ C wwm § dwR-E
AN Beh= ) T W fe st

. A[2)

1. A[2[3)

1. B[l

IV. B[2](3)

(@) FFA1, 11 T IV

(b) Faa II, 1 & IV

(c) Fad II 3 IV

(d) Fae IV

54. f= ¢ Y™ 1 Frfa (output) T Fm?

# include
int main ()

f
L

int index ;
for (index=1; index <=5; index ++)
]
\ as
printf ("%d", index); 23
if (index==3)
continue;

}

\
)

(@) 1245 (b) 12345
(c) 12245 (d) 12354

55. C yfim W d§ f= declaration &1
ad 87

int (+ p) [S);

| e e af § hom A wits @
g 2 Yeafrm T e v, i

"int *p{5]" W& B
(b) p, 5 R F1 WA 2
_ls) p, R F AR R
d) p, 5 R F freh W wigz R

56. fou o fewA R={(12),(2 3) ¥ Fiam f&aa
W TR AR WU A Tane Rewd

iR, R 3R ZERA R T
a4 ®) 5 @

(c) 6 d 7 ’

15 13 { pr.O.
\Z/IB/H'/ {
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— 2
& e =X
S7.The range of the function | S7.7¢ flx) /t

f(x) e /(1 +x2) is (a) (- +e9)
(@) (=0, + o) (b) (0 =)
(b) (0, =) (c) (o= O]
(c) (-, 0 (d) (01 i =
(@ (0,1 SBAﬁBagﬁzﬁﬁvﬁa@m%,ﬁg
58. A and B are two 8-bit numbers such A+B<28. A A B % A e }
that A+ B < 2% The number of possible . :
combi?ations of A and B;;S @) 29 (b) 28
(a) 2° (b) 2 v 4
@) 2 =1
(© 2'° d 2%-1 e} & (
g1 it af
59. Which of the following is tautology? 59. fe1 8 4 F-71 B
(a) avb—obac (a) avb—-bnac
(b) aab-obve (b) anb-bvc
(c) avb—(b—c) (c) avb—>'(b—>c)
(d) None of the above (d) 3w § | F§ AL
60. From a complete graph by removing 60. T Hrde UTh Y ftepam _ t@rd g4 W
maximum edges, we can construct T 9 s 1w 2|
a Spanmng1 tree. " 1 () e-n+l (b) n-e+1
(@) e-n+ n-e+
) d e-n-1
(c) n+e-1 (d) e-n-1 El e @ o5 _
: 61. TF uftF § 8 wRdHg, 4 R 3N 4 3fiem
61. In how many ways can 8 Indians, 4
Americans and 4 Englishmen be seated et ol e | 98 wHd 7, A T A Y-
in a row so that all persons of same % ¥t el T Wy w7
nationality sit together? (@) 3!418!4! (b) 3!8!
() 4!4! (d) 8!414! ) ;
62. 4 W IR 5 = ¥ § 2 W I’ 3 T
62. The total number of words formed by AR Fd fFa = T W qHY 57
2 vowels and 3 consonants taken from «
4 vowels and S5 consonants is (2) 60
(a) 60 (b) 120
(b) 120 (c) 7200 ‘
(c) 7200 (d) I9E A | T 7

(d) None of the above 63. qfay
63. The output F of the circuit

(T Fﬂ@ﬁ

=

X
is ety B X F1 04 (output) Ffim § B 1 e
(@ 1 (b) O @ 1 b)) 0 |
) X (d) X’ (C) X (d) )&
/25-C
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64. Which of the following is a memory
element?

(a) NAND gate
(b) SR flip-flop
(c) NOT gate
(d) Universal gate
65. Which of the following is a universal
gate?
(a) NOT (b) NAND
(c) OR (d) AND

66. The binary equivalent of the Gray code

11100 is
(a) 10111 (b) 00111
(c) 01011 (d) 10101

67. Which one of the following is not
necessarily a property of a group?

(a) Commutativity
(b) Associativity
(c) Existence of inverse for every
element
\9 Existence of identity
68. What is the possible number of reflexive
relations on a set of 5 elements?

(a) 210 (b) 2'°
c) 220 (d) *2%P

69. From the given digits
2,23,3,3,4,4,4 4
how many 4-digit numbers greater than
3000 can be formed?

(@) 50 (b) S1
(c) 52 (d) 54

70. What is the maximum number of
different functions involving n Boolean

variables?
(@) n? (b) 2"
2
© 2" @ 27
/25-C
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64. f=1 1 3 FF-11 ww memory element ®?

(a) NAND 2

by SR flip-flop

(c) NOT 2

(d) e 7z
65. e 1 & H-m vk 2frde iz 20

(a) NOT (b}~ NAND QD

(c) OR (d) AND

11109

66. 1 FTT 11100 1 AT G ¥ \[,)77‘/7,
ey 10111 (b) 00111 foll

(c) 01011 d) 10101 “

67. 79 4 @ F-w w AR = dtEEd
€t 27
(a) fafren
(b) @E=TRE
() IAF I999 & fou wfaeim a9 vflm
B
(d) HYEY 37EFE 9@ B

68. 5 34l & ¥ W R Tyl & dwfaa

&1 1 27
@ 210 (b) 215
69. fa T 37!

2,233 3 4,4, %, 4

A 3000 A AftF 4 3F N Fve &N T8
A Hehell &7

(a) 50 (b) S1
(c) 52 (d) 5S4

70. n 9fcEn Afwadl @ Alvwam fevm fa wam
TEIT 1 gaha &7

\(i)/ 112 (b) L
© 2" @ 2%
- \ [ P.T.O.
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71. The number of equivalence relations of

the set {1,2 3 4} is

(a) 4 (b) 24
(c) 25 (d) 15
72. What is the range of the following

function?
4, 8),(92),(-3,-4))

(a) {4,9 -3}
(b) 8
© 14 8),(92),(-3-4)
(d) {82 -4)
73. In the given graph identify the cut
vertices :
D (®)
(a) Band E
(b) Cand D
(c) Aand E
(d) Cand B
74. monitors user’s activity on
Internet and transmits that information
in the background to someone else.
(a) Malware
(b) Spyware
(c) Adware
(d) None of the above
75. A portion of the polymorphic virus,

generally called a , creates a
random encryption key to encrypt the
remainder of the virus.

(a)
(b)
(c)
(d)
SSID stands for
(a)
(b)
()
(d)

polymorphic engine
multiple engine
mutual engine
mutation engine

76.
Secure Service Identifier
Secure Set Independent Device
Service Set Identifier

Service Set Independent Device

/25-C
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7o, fe Fed I & = 27
{(4v 8); (9' 2)! (_3’ _4)}

(@) 4,9 -3}

(b) {8}

(©) {(4,8),92,-3-4)
(d 82-4)

73. fou T T # 2 aFaE F TEEH H

B3 E
Cc ¥R D
A ¥RE
C 3R B
AT W IGATRAl 1 Ty #Fl

ﬁvmﬂm%aﬁtgw@ﬁmmrﬁaﬁ
et 3 ¥y Wa o=@ 2

(a)
(b)
(c)
(d

74.

(a) HTEEA
- @
(c) TEIH
(d) 3T F A FR T

75. AR W Aot aE ¥ wF R #
_ FE @R, N an@ F iR e
0 % forg T Yen e $of s 3
(a) UTferiTha oM
(b) Hfcead oM
(c) YA T

YA §5H

76. SSID T wfim w7 27

(a) Secure Service Identifier

(b) Secure Set Independent Device

\9, Service Set Identifier

(d) Service Set Independent Device
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83.

T7.

80.

81.

82.

) 2 processors

The number of columnsg in a state table
for a sequential circuit with
and n inputs is

(a)
(c)

m ﬂip—ﬂops
m-+n

(b)
(d)

m+2n
2m+n 2m +2n

. Which of the following does not have

8 data lines? -
(’ ’)p
— 3

8085
8088

(a)
(©)

(b) 8086

()~ 280

- The Boolean expression X+ X’y equals
(a) X+Y
(b) X+XY
(c) Y+YX
d XY+Y’'X

A computer has 32 MB memory. How
many bits are needed to access any
single byte in the memory?
(a) 25 (b) 16
(c) 24 (d) 20

A computer has 128 MB memory. Each
word in this computer is of 8 bytes. How
many bits are required to address any
single word in the memory?

(a) 27 (b) 24

c) 23 (d) 25

To achieve parallelism, one needs a

minimum of @

Consider a disk pack with 16 surfaces,
128 tracks per surface and 256 sectors
per track. 512 bytes of data are stored in
a bit in serial manner in a sector. The
capacity of the disk pack and the
number of bits required to specify a

(b) 3 processors
(c) 4 processors
(d) None of the above

particular sector in the disk are
respectively
(a) 256 MB, 19 bits
(b) 256 MB, 28 bits
(c) 512 MB, 20 bits
(d) 64 GB, 28 bits
/25-C
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79.

80.

81.

82.
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w Rl e H w2 daw 8, S g
m flip-flops 3 n $AYe &, Prax HTem &y

(a) m+n (b) m+2n
(c) 2m+n (d) 2m+2n
fre 3 9 forat 8 277 =g ekt Bt 37
(@) 8085 (b) 8086

(c) 8088 (d) Z80

gferm sfaafs x + X'y fras oam 27
X+Y E?E/FS' :

X+ XY X’rtﬁ\ﬁ

Y+YX

XY+Y'X

32 MB 99l % tH =R § & e ane

! A § e 1 F fou 39 e e

(a)
(b)
(c)
(d)

() 25 (b) 16

(c) 24 (d) 20

TF FFYX § 128 MB #il 19l § IR 12T
9 1 WEA 8 a2 2 | fh oft faa =
T 4 WE FE F fom B fe H
SAravahal qrft?

(a) 27 (b) 24

(c) 23 (d) 25

(€) 4 TRE

(d) I &} S T

16 aha, ufd HE 128 IF IR Uld IF
256 ¥F & WY & ¥k ¥ W famn =)
T U F W fae W 512 R A W
FUHER Gufea R ) fa 4 Y e ofv fow
7 A5 9 Piffe +01 & e saws fe ©
m%,m:

256 MB, 19 f&2

256 MB, 28 f&e

512 MB, 20 f&e

64 GB, 28 T

[ P.T.O.
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84. Which of the following is not true

S
—

regarding registers?

(a) Internal storage of CPU
(b) Can hold either data or instruction
()

Made up of flip-flop

(d)- Cannot store intermediate results

85. While implementing a stack on a register

stack, the stack pointer register is

(@) .incremented first during push

“_.~~ operation

(b) decremented first during push
operation

() incremented first during pop
operation

(d) decremented first during pop
operation

86. Zero address instructions are

implemented with the help of

= AP

(b)
None of the above

queue
stack

(c)
(d)

register

87. Switching between a supervisor mode

and a user mode for a processor is
usually done by a

(a)
(b)
(©)
(d)

subroutine call
branch instruction
software interrupt

None of the above

88. Which one of the following is used to

read the control words seque
the control memory?

(a)
(b)

©
@

/25-C
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Microprogram address register
Microprogram counter

Control memory address register

Program counter
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85.

86.
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(a) 9
(increment) T ?

(0 [ EE ¥ AW T I EW
(decrement) Ll 2

@ w9 s ¥ AW W e
(increment) Xl E

(@) w9 R % dRH TR 3F B
(decrement) Fdl ?

S 3 deawe w1 Fre § fred w3
I B 87

(@)

(b) ®H

(c) ot

(d) I § ¥ FE T

TEW 4 YRAGR /S a0 TR A+ di"
feafem fm 3 3 foras gro St 27

(a) WERA Wi

(b) I FHA

(c) HHRAR FeT=

(d) I B q i 7

= 3 A Rea

P 2 5 R o g
(@) I V3w i

(b) WSS 3y

(€)= Wl Agw <foreey

(d) T Frzmey
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89. Which of the following can be used to
track the tasks of a project, when the

estimation of task time is fairly
uncertain?
(a) Decision table
(b) Case tools
(c) DFD
(d) PERT

90. Which technology emphasizes parti-
cipative development among system
owners, users, designers and builders?
(a) FAST
(b) RAD
(c) JAD
(d) OOD

91. The best suited hidden surface

algorithm to deal with non-polygonal,
non-planar surface patches is

la¥ Z-buffer algorithm
(b) ray tracing algorithm (»B
Raster images are commonly called

93. A scaling transformation changes the

(a) size of an object
(b) location of an object @

94. One of the disadvantages of pass by
reference is that the called function may

inadvertently corrupt the caller’s data.
This can be avoided by

(c) painter’s algorithm

(d) scan line algorithm

92.
(@) pixmap
(b) bitmap
\/(p) Both (a) and (b)
(d) None of the above

(c) shape of an object
(d) Both (a) and (b)
L B

, (a) passing pointers

(b) declaring the formal parameters
constant

(c) declaring the actual parameters
constant

(d) All of the above

/25-C

GET IT ON
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89. =1 i | g 3wm afiisen & F W 3

90.

91.

92.

93.

94.

F % fou fen 1 g 2, 5| 1 T o
e &Th ifafvea g 8¢

(a) Tefosm 2aa
(b) 8 e
(c) DFD

(d) PERT

Pr-f T frem faE, T,
R el B
(a) FAST
(b) RAD
(c) JAD
(d) OOD
FH- THE TS ¥ IF T, 7
(a) Z-9H TeRGH
(b) 3Ffm TemigH
(c) ¥ed TeiiegH
(d) T g TIGH
et TSI ) AT 1 el S 87
(a) foeERy
(b) fereha
() (a) 3N (b) B
T § A HIE 7@
B ZEGNTH = gead 87
(@) 3Tevae 1 MM
(b) Nfsvme H feufd
(c) ege N ATH
@ (a) ¥R (b) A
wmmﬁmﬁé@%ﬁ%ﬁ
R T GAEH ISR H F F 32 R
@ R gohal 21 790 fo= A | TR g e
1 el 87
(a) T iged
(b) e el ®i fer =ita F
tegaret el i e @ifta

(d) 3% |
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9s.

Which of the following is not a primitive
data type?

w. Boolean

96.

b) Byt ~
(b) yte (/\())

(c) String

(d), Double
\/

The statements
string varl| |;
varl=new string|[3];
system.out.printin (varl [1]);

print

(a) an empty string ”'Q
(b) null E 7

e

() O

Jd}- a garbage character

97.

98.

Every EJB class file has

(a) one accompanying interface and
one XML file

(b) one accompanying interface and
two XML files

(c) two accompanying interfaces and
one XML file

(d) two accompanying interfaces and
two XML files

In unit testing of a model, it is found
that for a set of test data, at the
maximum 90% of the code alone were
tested with the probability of success
0-9. Then the reliability of the model is

(a) greater than 09
(b) equal to 09

(c) at most 0'81

(d) at least 1/0-81

99, Which of.the following activities does
not belong to implemeéntation phase of
SDLC? ! 4

(a) Program testing
(b) File conversion @
(c) User training

\QL New changes to the system

/25-C
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95 ﬁﬂﬁﬁﬁ?-wgﬂquﬁ
(a) W
(b) e
© f&1

96. FYA

97.

98.

99,

string varl[];
varl=new string[3]; .
system.out.println (varl [1]);

fime =t

(a)  foem =0
(b) & (null)

() O

(d) T FRd® 2R

% EJB @ ®iuF F @1 Bl 8

(a) TF AW OIS T TH XML HTH
(b) UF Geid ANIYE TA A XML Fi=aH
(c) < HeH AYS TF TH XML Hi<h
(d) <1 HW AAYS TH I XML Frah1
T Hied # gfve 2fen # afe 2w 2@
e % T sifvsan 90% #e # 2fSW 0-9

THA TEIA & WY Bl R, @ 39 mizq B
favaaraan anfy 2 2

{ cio"].
(@) 09 ¥ At
(b) 09 F TR g
(c) ¥fuwam 0-81 K
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100. Project risk factor ig considered in

(@)  waterfall mode]
@

(b) prototyping mode]
(¢} spiral model
(d) iterative enhancement mode]

101. According to PUTNAM, the project effort

1s Inversely proportional to the fourth
power of the development time.
Doubling the development schedule for
a 100 Person-Month (PM) project would
reduce the project effort to

(a) 50 PM
(b) 7-16 PM
(c) 25 PM
(d) 625 PM

102. In virtual memory paging, page size and

frame size have which of the following

relations? @

)
(b) Both are of unequal size
(c) The page size is exactly half of the
frame size

(d) The page size is twice the frame size

Both are of equal size

103. To change the command prompt in
UNIX, one can use

(a) grep JprIs
\9 psl (d) pwd
104. Which of the following page replacement
algorithms requires futuristic infor-
mation about page references?
(a) FIFO
.\Jp) LRU

(c) Second chance
(d) Optimal

105. A process refers to 5 pages A, B, C, D, E

in the order
ABCDAUBLEABC®©CDE

If the page replacement algorithm is
FIFO, the number of pages which
transfer with an ‘empty internal store of
3 frames’ is
(a) 8 (b) 10
) 9 d 7

/25-C 23

GET IT ON
Google Play

100. Yoz e ¥ge fm § ¥ 9 Aiga @
it gy 27

(a) 9RIHIA AISA

(b) WYersfim Hisa

(c) A AIEA

(d) 32ifed vz Hiza

PUTNAM % 3gan i wam, fom
a5 ) Y " (ar) F Bt e R
% 100 Afw-9EH (PM) dfdsmn % fass
FEFH B [ FA F @S TTE FA B
F A Sem

(a) 50 PM

(b) 716 PM

() 25 PM

(d) 625 PM

Fgod T Afsm § 49 WS 9 %E wne A
T =Y g 87

(a) 2H! G9H A9 I B &

(b) @i EEH " A B &

(c) ¥ &TES, W EIES Hhl Ik e B @
(d) ¥ |IES, W AES A AT A 2

UNIX ¥ FHT8 W2 sgad & fau w3 fwan
SN

(@) grep (b) 1s

(c) psl (d) pwd

104. = # 4 F-w ¥ fewie Veniign, I
TR & m i (wfasm ) ITEE W FE
FAT 87

(@) FIFO

(b) LRU

(c) e I

(d) fewa

T WA 5 U8l A, B, C, D, E
ABGCGDARBEABGLIOE

¥ w0 3 Wbl @ ¥ AR I Redwie

UY@TREA - FIFO .8, @ W 98I, S ‘empty

internal store of 3 frames ¥ WY
YA Ff, H gen Bt

(a) 8 (b) 10

() 9 d 7

101.

102.

103.

10S.

[ P.T.O.
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106. The number of 3’s in the output of the
program

main ()

{
printf ("1"), fork ();
printf ("2"); fork ();
fork (); printf ("3");

}

1s
(@)
()

16

(b) 8

. (d)

2

107. The data blocks of a very large file in
UNIX file system are allocated using

. (@) contiguous allocation
~ > a

(b) linked allocation A
() indexed allocation
(d) an extension of indexed allocation

108. If a function does not modify the
database, the purity level is

(a) RNDS (b) WNPS

(c) RNPS (d) WNDS

109. Which of the following concurrency
control protocols ensure(s) both conflict

serializability and freedom from
deadlock?

I.  2-phase locking

II. Timestamp ordering

(@) I only

(b) II only @
(c) Both I and II

(d) Neither I nor II

110. In RDBMS, different classes of relations
are created using technique to
prevent modification anomalies.

()
(b)

(c)
g%

/25-C
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. T
main ()
: k()
intf ("17) for
p;intf(”Z"); Orlf :i")),.
fork (); printf( 3

(@) WWW

(b) 3 T A B

(c) Wﬁmmm

() ST A F TR ET

3f: ©F wed, 32EE F1 G TE FE R, @

T AT R

(@ RNDS (b) WNPS

(c) RNPS (d) WNDS

/= 3 ¥ FA-wm/A guad  FEw

(concurrency control) Warhid, HidaaR
Rfaemsfaff sk e @ =, [
giifeaa Fen 3/ 87
L 2-% offfem

II. e st
(a) e |

(b) %3 11

(©) 13K 1=

@ M1, 38

RDBMS 3 M g
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11 which of the followin

is
pased data model? & not a record-

111, Frer § @ H-w ferrd s 3o Aied T R7
"\[;4) Relational mode] (a) G HE R RIS
b) Hierarchical mode] (b) ERITHFA HsA

(c) E-R model @ fb (c) E-R #Ed
g

(d) Network model

(d) Feash Hizd
112. If transaction A holds a shared lock R | 112- AR 7=EE A T e @F R T 2 3R
and if transaction B also requests for a @ 7w B i T 39S @ PILEU
shared lock on R, it will 2 3 e
(a) .result in a deadlock situation (a) TH QY (deadlock) $ fafa 37
(b) fmmedlately be granted LY, eI
(c) immediately be rejected (b) T w1 et 2
(d) be granted as soon as it is released (€ T syt H1 S 2
= by A ==
d) AT GH FA % I T #
113. A data model is a collection of IR
conceptual tools for describing s 4=
(a) data and data relationship ’6 113. T %ﬂﬁq i.‘; ;ﬁ ﬁﬁaﬁh Jg?ﬁ K
(b) data semantics and consistency & 2, . b .
constraints (@) ¥ Tl 30 W=
Jp) data, data relationship, data (b) 2 fafRaa w@ gmife e
semantics and consistency

; (©) %a,%awa,%aﬁﬁﬁw@@ﬁ
constramts wa_au

f the ab :
(d) None o e above @) 3 a i ad
114. The difference (-) operation removes

common tuples from the first relation. 114, @ (-) AT TEA F=Y § ¥ W tuples

This operation is %21 <1 8| TR HATRIA Tl B
(a) commutative and associative (a) HRRefea iR geam
(b) non-commutative and associative (b) -wrpRfE 3R gt
(c) commutative and non-associative ©) T:I;Tﬂl?.ﬁ?l i
(d) non-cprgmutatwe and non- d Mol o g -wedr
associative prfes

115. Which of the following is possible 115. fr=t § @ wifer Rl e Fe-w 7
security threat? (a) THMM TergamA
(a) Information destruction (b) Wﬁm AT
(b) Information alteration () i fefs
(c) Information release @ ) mﬁ'\‘ﬁ ol

\Jd)/ All of the above
116. HATH AV F I R

(a) erTge o E@wY femre

116. Salami attack is for
(a) website defacement

(b) controlling the website (b) AEEIEE I Fram
(c) financial crimes (c) faddr@ srmaw
(d) Internet time theft (d) TR g 6 9l

/25-C 25 [ PT.O.
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EJRE TS
A ; s T
117. What is multipartite virus? 117. o :
) _ (a) - qHl
(a) Hybrid of macro virus and stealth — 1 T
virus (b) " . java ;pj'a
(b)  Hybrid of virus and worms () /\Cﬁvex o T aael CIRICHCLRE S
() Hybrid of ActiveX and Java control (d) e AT 3
(d) Hybrid of program virus and boot e g 3%
sector virus 118. 321 |ET W £ g—(gﬂ F1
118. The main purpose of the Data Prote(tloll_ (a) =AftTa "
Act is to ddeina (b) Eﬂ’ﬂgﬁm o
1&) protect personal privacy ) FIZ fgezd #1 ngm
& c (] e
(b) prevent viruses ( MIEEH fagad #1 %8 P
() Increase the security of computer (d) 39
systems g% (DES) 1
" . 371 3T
(d) reduce project failures 119 o AT
(a) S
119. What is data encryption standard
(DES)? (b) FH HIEH
_A4) Block cipher (c) foe ATEH
(b) Stream cipher @ (d) 31:@"?5 3§ =g e

c)~ Bit cipher
{d) None of the above

120. = # | FA-|1 gEd * fa=ml a1 @A #

I I ZIA B
120. Which of the following represents aF
stealing the ideas or stealing the (a) a
creations of others? @ (b) ST el UgeH
(a) Plagiarism ~
c) UEE
(b) Intellectual Property Rights o
Js+ Piracy (@) g
(d) All of the above 121, a—éméawqgaﬁ%f‘mﬁmﬂﬁﬁn
121. Which of the following protocols may be H1 M ﬁ?ﬂ !
used for accessing World Wide Web? vfa) HTTPp
HTTP '
@l (b) SMTP ¥
(b) SMTP
o (c) sLip
(d) None of the above (d) %43 * Bl
122. Web pages are created in a langua 122, f3g RIN I T
called B FEq &7 b i ?, Tl B
(b) HTML
v H
fe] HITP (©) Ll @
@ www S5
@) wwy

/25-C 26
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123, Which of the follow

3 ing i :
yame? 818 a valid domain

a)  .com
(b)  .gov @
(c) .net

\._\(4) All of the above

124. MIME stands for

‘ﬁ) Mult]purpOSe Inteme

Exchange 5
(b} Multiple Information Main
Exchange
() Mul}tipurpose Internet Mail
- Extensions '
(d) Multipurpose Information Main

Extensions

125. URL stands for

(@) Unique Resource Locator

(b) Universal Resource Locator
Ve Uniform Resource Locator

(d) United Resource Locator

126. To jump from one page to another page,
which of the follom‘ﬁ%‘rs/ﬂ;ed?

(a) <A HREF> ..... </A>

<link>
LJQ) <jump>
(d) None of the above
127. What is the by default time in minutes
when a page session ends and if user
does not refresh or request page?
) 10
(b) 15 @
() 20
(d) 25

I T IRr—— —

128. Search engine is used

(a) to search document on web

(b) to search the file on host computer
(c) to search data in a file

(d) None of the above

On what type of switching does Internet

3

129.
work?
(a) Circuit
(b) Bit
, (c) Packet
' (d) Line

/25-C
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123, fa g 3 g g w1 AW ®

(a) .com

(b) .gov

(c) .net

(d) ITF fi

124. MIME fra afsm &7 27

(a) Multipurpose Internet Mail
Exchange

(b) Multiple Information Main
Exchange

(c) Multipurpose Internet Mail
Extensions

(d) Multipurpose Information Main

Extensions

125. URL fraa afim &9 87
(a) Unique Resource Locator
(b) Universal Resource Locator
(c) Uniform Resource Locator
(d) United Resource Locator

126.@ﬁaﬁ§mﬁammaq§aﬁ%mﬁmﬁ
A e T@m F7
(a) <A HREF> ..... </A>
(b) <link>
(c) <jump>
(@) IFF A | FIE TR
127. 54 T IRl o 4 ) oen @ few 7@
@ 2 3l 9 YA §AW @ W @, A 3
fRafy & fepiee % &4 3§ fime o fran w3
ucil
(@) 10
(b) 15
(c) 20
(d) 25
128. S 399 1 T Aa ®
a) ¥ R TS g % e
(b) BYE TR W HTEA g ® N
() v EEa i 32 g ¥ fee
(d) 394 | @ F3 T
129, 20 fra war A feafem o Fm w27
a) Wi
(b) fere
(c) ¥he
(d) <A

O

[ P.T.O.
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130. What is  related to application | 130. Tefipye  feaaudz o7 "
development strategies? Trafa 27
(a) Brammstorming /F (@) s
. * 7»)‘- ;
(b) Technical planning ( (b) THEFF T FAAT

o o Lt e
() riting the creative brief (c) TR Heg foaE
(dF All of the above

v (d) I A+
131. Which of the following techni ' N - 3 ¥
g ftachniques is |} .. costdinerr o wnitd $6 ¥ fau =

used for transmitting digital signal?

5 fafy =1 wim @@ 27
{a) Amplitude modulation )
: 7 (a) UfFdE[e AT
AP Frequency modulation [ 6 g
b) WHlE=H giE[AvH
(c) Pulse code modulation (b) I,
(c) UeH FIg HiS[ATH

(d) Amplitude shift keying

(d) Ufeerzre foe g

132. Which of the following is an advantage of

computer networks? 132. = 4 @ FH-91 FF JzaF F1 TF AN %?
(a) Resource sharing (a) wEwE Fi e EEll
(b) Improving reliability and availability (b) Frermafafad aun  CRICIEA o ErACI

(c) Enhancing performance

(c) WHEH = FEH
(t/dj/A]] of the above (d) E‘J'Qﬁ" —

133. A network spreading in different b e I , d
geographical locations is known as 133. TF T2, N fah@ dimfas sl 7 % A,

& T @ F Fad &
a
(b) WAN @ @ 3

\)g) Both (a) and (b) (g 25

(d) None of the above (€ (a) R (b) B
_ 4, (@) STF A FE ;
134. Which of the following is a token-based -‘
protocol? 134. 79 § @ -1 0% JFA-3c2 TR 27 41
(@) CSMA/CD (@) CSMA/CD I
(b) Slotted ring (b) e fi :
(c) Both (a) and (b) S @ |

(d) None of the above !
9 I A A
135. The number of layers in ISO-OSI

reference model is 135. ISO-0OSI ™4 "igd 3 e 9 B 57
(@ S (b) 7 (@ 5 by 7
© 9 ) & 3 @ 6

/25-C 28
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[a) network layer ang p, t
uti

n
(b) data link layer g
SynChroniZatiOn and b".

and end-to-
process CoOmmunication e
(d)

N medium access contr

ol
and channel Sharing sublayer

137. What

18 the maximum number of
characters (7 bits + parity) that can be
t'ransmitted in a second on a 19-2 kbps
1me?. This asynchronous transmission
requires 1 start bit and 1 stop bit.

(a) 192
(b) 240
() 1920
(d) 1966

138. In which layer of network architecture,

the secured socket layer (SSL) is used?
(a) Physical layer

(b) Session layer

(c) Application layer

(d) Presentation layer

The address resolution protocol (ARP) is
used for

(a) finding the IP address from DNS

139.

(b) finding the IP address of the default
gateway

(c) finding the IP address that

corresponds to a MAC address

(d) finding the MAC address that
corresponds to an IP address

The number of crosspoints needefi f‘?r
10 lines in & crosspoint switch, wh%ch is
full duplex in nature and there is no

140.

(a) 100 (b) 45

(c) 50 (d) 90
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fre s 4 @ aim e @

(a) Feak qra 3 &M

(b) 2 i T 3 faz fisprgere

(c) WWWW?!\@WW

(dlmm‘@ﬂﬁﬁmm-ﬁﬂéﬂa
QAR

137. 3&d ) s gen (7 faz + D) 7R,

R 192 kbps @TF W TH dH-s # AfNA
fopm < " 2 7 3@ wftene Zfem ¥ foe
| wi faz sl 1 =l fee A emEvEEd
A R

(a) 192
(b) 240
(c) 1920
(d) 1966

Yo anfa $ fee wa § giiE W
W(SSL)mzva’mﬁ?mm%?

(a) Tfserel wa

(b) €A W
YeAFIH T
139. 3@ FEIgEA MerhTet (ARP) &) I5am e
T R »

ﬁrﬁéﬂﬁw
(2} DNs @ 1P 71 g7 ¥ fere

(b) fewtee T2 &1 1P Tal g & ot
(c) @ MAC W % 3gEd P T & F
fee

pb

138.

e

Oz
In R

&

(d) mlpqa%atﬁaMAcw@%
fer

140. @ FE@E &9, W QUi duplex ¥ d

ﬁuﬁﬁﬁm:mﬂﬂ%,ﬁ.lomﬁﬂz

(a) 100 (b) 45
() SO (d) 90
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141, Iy Huffman’s coding, if the symbol A has
probability 0-3, B has probability 015,
C has probability 0-1, D has probability
0-25 and E has probability 0-2, then the
minimum number of bits required to
represent all the symbols together is
(a) 14 (b) 11
(c) 12 (d) 15
142. X.21 1s
(a) a method of determining which
device has access to the
transmission medium at any time
(b) a method access control technique
or multiple access transmission
media
(c) very common but oriented at linked
protocol issued to ISO
(d) a network access standard for
connecting stations to a circuit
switch network
143. Which type of support for TETP is
available from third parties, but is not
included in Windows NT?
(a) As client
(b) As server
(c) Windows NT includes full TFTP
support
(d) None of the above
144. Two main types of Internet-based B2B
commerce are
(a) net marketplaces and private
industrial networks
(b) EDI and collaborative commerce
(c) net marketplaces and collaborative
commerce
\9} EDI and private industrial networks
145. The media access control sublayer
resides in which OSI layer?
(a) Transport
(b) Network
\\/) (c) Physical
i (d) Data link
/25-C
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(a) 14

()

(b) 11

12 d) 15
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% 37 Windows NT #.wnfiret 78t 7

(a) g2 H Wid
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() Windows NT Q@ TFTP &9 & #1%
AT 8
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146, Which  of the following is

backtracking algorithm? not a | 146, 3§ Q -4 EETAED Q’G'ﬁf({ﬂ FEl R
(a)  Knight tour problem (a) A3 T WiseH
(b} N-queen problem (b) N-=H WecH
(c) Towers of Hanoj (c) Zrad 3% &g
(d)  M-coloring problem (d) M-FHerm FiscH
147. :’::\i;:}sir?f th§ following is useful in | 147. 7= & & HF-71, 7= ar F) Fgu-FE T
s BgFaS )g?wen graph by breadth-first (BFS) &1 3ad % & I7rft 27
(a) Stack i é?ﬁ
(b) Set (b) ’QZ
(c) List (c) forz Q
(d) Queue (d) ﬂ
148. Which of the following algorithm design | 148- fra 3 @ frn T o aeds
techniques is used in the quicksort 37 quicksort Yeife® # fon S #
algorithm? (a) S S
(@) Dynamic programming (b) d=fEm

(b) Backtracking \(}) 2 wd FR @
(@) T Aue

(c) Divide and conquer
(d) Greedy method

m' ﬁ'rfﬂ ?
149. What is the output of the following code 149. = (code) 1 1971 (output) F1 4

snippet? #include <stdio.h>,
#include <stdio.h> #deﬁ'n,e va.r_3
#define var3 void main () eS8 4
void main () {
{ short num (3] [,2‘] ={3,6,9,12, 15, 18};
short num [3] 2] = {3, 6, 9, 12, 15, 18}; printf ("%d %d’, *num+1) [1],
printf ("%d %d", *num+1) [1], **(num+2));
**(num+2)); }
j (a) 12 15
o) 12 P (b) 15 12
) 16 42 (© 15 15
g -1 £F (@ 12 12
(d) 12 12 '
150. m U4 nmﬂﬁaqﬁgm%m+n
150. For merging two sorted lists of sizes m g 6 T 0 fore # faem ¥ o fead
and n into a sqrted list of SiZ(.f m +n, how Waﬁ £ sy anfi?
many comparisons are required?
(a) O(m) (@) O(m)
(b) o) (b) Qin)
(c) O(logm +logn) (c) O(logm +logn)
(d) O(m+n) (d) O(m+n)

: P.T.O.
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